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— AL SR LE

(Vocabulary and Structure)

1. A E 27

BB 50 A EE R A 100 50, BETEh 3 /DT,
FHCAE LR IR B — A0, HFEH 30 4~/ BT
FERY 25 480, GBI 15 2.

HIHIRIC A B RS REE L Z & b i
B HAEIEER R B SO E R

(D £FECR EFRHEEGITHTLHREAEFK
FE B AN A IGE L D PRAFILR . FARILE E
PR XA RS MR E . HE TR AN .

1. Although 1 spoke to him many times, he never took any
__of what I said.

A/ notice B. remark (. observation D). attention
2. Feeling that he was in the right, he took at the

slanderous remark '.
© A. offence B. pretection C. defense D. guidance
3. Many doctors are general practitioners, but the

1s toward specilization in medicine.

A. rumor B.tendency C. prejudice D. security
4. Contractors hire sur;/eyors to mark the of the

property before they begin construction.
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A. expenses B. boundaries C. supplies D. customs
5. In most countries, the metric systems has been
for all measurement.
A. adapted B. applied C. harnessed B adopted
(answers:1. A 2. A 3. B 4. B 5 D)

(2) ESCHR W BT RN IR — A B E 44
AUREEEMRESAEL . BEEFREMEST AR AP RE
FEMNEXMAE, FEEERA. XM 8EEF LL/E,
{HAEMAFLERE S M. m.

1. It was suggested that all government ministers should be
forced to information on their financial inter-
ests.

A. uncover B. disclose C. admit D. unfold

2. What he told me was a of lies.
& pack B. cart C.load D. flock
3. We covered a wide of topics in the interview.

A. extent B. number C. collection JKJ. range
4. According to the weather, which is usually »it
will snow this afternoon.
AL accurate  B. exact C. precise D. perfect
5. Why is it that we can never discuss politics without getting
into a argument.
A.roaring B.warmed C. boiling . heated
(answers: 1. B 2. A 3. D 4 A 5 D)



(3) MR AEE MR AREN RS Y 4
A bR AR R B R 4 1 o3 R 0 Bl ey # R A A B
EhidFM, tH AN A .
1. It was at the exhibition that we this kind of
minicar which is made of plastics.
A. camp up B. came out C. came upon D. came up
with
2. We are not going to be with excuses; we de-
mand strong and immediate action,
A. put away B put off C. puton D. put over
3. A captain is no more than the father of a family,
____ an even greater responsibility than the father
of an ordinry.
A charged with  B. dealt with C. picked up D. kept
on
4.  there is no theoretical upper limit but only the
practical one set by the limitation on the materials of constre-
tion.
A. Incase B. Infact C.In sequence Y. In truth
%5. He arrived very late last night, in the early
hours this morning.
A. by and large B. on the other hand

C. or rather D). on the whole

(answers:1. C 2. B 3. A 4. D 5. C)

OHURERBANAZ IXXT-REEELFHIR
e 5.



R R A B R R R R AT A SR E R E
H%. W,
1. Ido not believe that this ridiculous scheme is of
our serious consideration.
A. worthless B. worthwhile C. worth D. worthy
. 2. Being objective and modest, a scientist must not
his views on others.

X impose B. put C. take D. apply

3. It takes years to as a doctor.
A. practise B. pass . qualify D. complete

4. The child was kidnapped by a of robbers.
A. staff B gang C. team D. crew

5. The village/ is only by river.

A accessible B. available C. attainable D. obtainable
(answers:1. D 2. A 3. C 4. B 5 A)

2. EEENH L RAE LN RE R

(D B mA SR A Ay R 2
R )RR B RUE AR R B R R
1. Weighing three hundred pounds

A. she could not move the piano

B. the piano could not move

C./ the piano was too heavy for her to move

D. t{x‘e piano was too heavy for her to move
I



+5.

If only the letter in time, it would not have
been happen.

A. istoarrive B. arrive C. had arrived D. has arrived
No sooner had Mrs. Taler entered the kitchen

a knock at the gate door.

A. did she hear B. then she heard

C. when she hear D. than she heard

The atmosphere is denser near the surface of the earth than

At is farther away B. further away from it

C. denser farther away D. farther away

It was the training that he had as a young man

made him such a good engineer.

A. that B. what  C. has D. later
(answers;1. D 2. C 3.D 4. A 5.A)

(OSBABEHER  KiFPE I, EER .

BIFE A B H B ISR, .

1.

He is free his money.

A. of A with C.by D. for

The shop-keeper set the dog Megger
A. towards B.against C. to m D

It is hard to reconcile his splendid speeches his

e

actual behaviour.
A. to B with C. on D. from
This rule is very important. We should apply it



our English study.
A.at B.for ¢7to D. on

. I have informed the post office the change of

ol

my address.
A of B. about C.in D.with
(answers:1.B 2.D 3.B 4.C 5.A)

(3) BRAZE WERICHFEETENRARERZ. =
ER AT F PR, AT E R & RICIE AR+ B3
SLEICASE. HIL X MBI —EWEE, Eal 2N 2
IR FIHME LA X T
;( 1. He told me only part of the story and that was
A, it Hthat C.this D. so

2. 1 am in a position of equality all my classmates..
A.in B, of Cifor [ with
3. 1t would take a long time to go all the details,

but 1 can give you the facts in brief.
A. to B.into C.in _P7 for
4. You must be here ~ fail by ten o' clock tomorrow
morning.
A. against 3. except C.with D, without
5. The picture does not come  the original.
X near B.with C. at D.to

(answers: 1.B 2.D 3D 4.D 5 A)

(4) EEFLEH  FEMR & B DR TR T —
e 8



B, WEIEE&E WA RIS ) L B RS R %
AP TPEEEREHE " 65— HHEEES
EREAR LS B RN PR RS S,
1. Stepping carelessly off the pavement,
A. the bus knocked him down
B. the bus came down him
Y,Q./ he was knocked down by the bus
D. he knocked down because of the bus.
2. Under the director-responsibility system, the Party secre-
tary’ s task is to fully support the directon in his work and
_ the Party’s policies are observed and state quo-
ta met,
A. toseeto B see toit /Qf/ see to it that  D. to see to
it
3. » a lot of people have given up smoking.
A Cigarettes being gone up in price
3 Cigarettes having gone up in price
C. People having raised the price of cigarettes
D. The price of cigarettes being highly raised
4. Mr. Brown forgot to tell me
A. what time I come . what time to come
C. at what time should I come
D. what time I should to come
5. Mark was not to fight the gang leader.
A. too brave B brave enough

C. so brave D. very brave



(answers; 1. C 2.C 3. B 4. B 5. B

SAVACRIARTRR 33 £

1HE A 1 3 25 H B R A FE S R & T 42 & 1Y
F B B R, X — R E GRIRY & F s A
iﬁ‘%ffﬁ)ﬁﬁ%ﬂﬁm{&ﬂuJMri%‘?L;’E%EE:m%éﬁE’J%H%—
BRI RIS IR A T S A FIL A B & F

(DRME-TFTHERAXFAFAEN AR X ERE T
BAEWA LR B, BB E RO T R S 4
Ao A F IR AR R L RS TR — A E R
. EE TR, ~REHAR - FTAREM AL, —BE
R Ll — 4] B A o

OEH—ERBOELSEEEHRE. Ty H e
B SRR GR] HOWRE, BERTRBUR 2% Ry
AR TEMDIE IS RIS R R
)LD R B S S IE A i M as B RS
TREMERE AR R LT, B AR T A,
W B X B B A AR B X 3 ) B Y &
UL,

OECAEZ B —RBE— 95 . e — 2 s
F R B DA i — S R A R TR S
AR TN TEEREE EREEN T, 4T HE M
CAEMEG N THIR. REM 50X SRR, SRS T,
.
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In order to buy his house he had to obtain a large
from his bank.

)/loan B. finance. C. capital D. debt
74 ]iﬁIﬁgr"J%ﬁi {H 4] B s -~ 1] bank W KGR FLA
loan & IFE Wi+ .
B,

The majority of nurses are women, but in the higher
ranks of the medical profession women are in a

A. rarity k{minority C. scarcity D. minimum
XA R B . A T8 AE majority (K%
O M gE s IE# L)Y 8 B minority VLR

(OF AEERFECHRE X REE . E oM EFm
AREIRSLE RAE] TSR R0 VIEC R . B B, A7 B A
mardrsie —H TR, W

Because sheep _meat and wool. they are val-

ued in many countries.

A. produces both B. both produce
. produce both D. both produces
A %) e they are valued - W[ LL B B R MK C.

procuce both
KPR A A P AR, B S E R XM B ik
G —HBERT EREFTC BHRRE. Rk, ™
A B3 SR A T D L O Y R T AR L
BHEBEER¥, BHRRLEERSERHRLT AP THmT
FRMELAE IR ER 00 FF . KB TR A HE BRI AN BE R HLELK
PIEFET, FE R WP AR F TP AR . B EE AL,

e 11 e



AN RV AT LARE R IR

RIEERE BRGNS E P 30 #/MEPE
A BB — i R & LR —E RE XS NE E R
B 1] 5 B [ O R PRI AL X FB F AR B R R
B B R XX, R I TS R AT T,
BERZ HHEE .

— i (Reading Comprehension)

B R RRE S E 5 AEE. ZRXENE
FHAE 1300 MER . XEHEHZHESH, FIORRY
T HE S AURY S, FIEEMS 04 BTFRATIA. H
St R ER AR IR H A A U B A A R BUEAR K. A
(9] {2 FE 4R BE 13 A B AR 1B 3518 % A B 40, LI H A B
RA A0 35 .

1o 3R o &

5] 132 T AR Y AR A A CE Y TR, BB LA E R
(DEWIE % 0Lty 6324095 28 (facts and details).
XK E B A CE DT — [ g BT AUR I T R Al
L XK A RN CCER E KR B, XS
B, xER LB R EE R ORI, A when, who,
where, why, what, which & how X X EHEFTR] . (6] 8
.12



B Rt A L T A 2L X R
HEEET R M e LA E BT A AR m
9‘3&1"' H B a4 SR Bam H BB AW, 8T,
s i B B RE %, 3 wh-question £l how 712
[f] 75 2 b X R — AR AT LA OB H AR PR A
S
(2)ETRER WL tho 38 WA 53 2H5 ) B A R A 5T
B IR FIE R, L AR SCE AT R B TSR A
AR A RE [ . X R IAR A O SCE R (titde)
P B (main idea) , $5 1’??‘13}]%[@]*[1 AJE (purpose and
attitude) , ¥E F A AR F4r BT F B (note) il A H 5800
(untrue) , B 0E  BEFS® N 78 (imply, infer) , T #51% (make con-
clusion )25, i ¥ 31 by A TR 158 B T & LA R R 56 B
b —ué%-Xﬂ’ﬁﬁﬁ’ﬂﬁﬁﬁﬁ{ﬁﬁﬁﬁﬁ 5 R i, AT AR AR
B SR PR WS B R Y AR o T HERR W A HE DL
VR IR AR H L OB — F
T T 4% 101) oF 152 135 T g A 3K T A S PR g T B E A7 800
The horse of 50 million years ago, called the Dawn
Horse. was a little animal the size of a fox terrier. The species
had four toes on each front foot and three toes on each hind
H foot. Its " toe-nails” were little hooves. When this creature
lives, there were no grasslands, Its home was the forest,
where it fed on tender shoots and leaves.
There is proof that this little creature was an ancestor of
the horse of today. Scientists have excavated fossils of certain
animals that lived a few million years later and {ound that , al-
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though they were bigger than the animal of earlier times, they
resembled it and the modern-day horse.

The horse family survived when many other animals died
out because it had two advantages. The little horse was swift,
as we can guess from its slim body and slender legs. It also was
fairly intelligent; its skull shows that its brain was large in pro-
portion to its body.

1. It can be inferred from the passage that
A. three species of horse has existed,
B. the horse of 50 million years ago have survived
C. scientists have found fossils of the Dawn Horse
D. horses needed grasslands to survive

2. The Dawn Horse had a total of how many toes?
A.7 B.12 G 14 D. 28

3. The horse family has survived because the Dawn Horse

A. resembled the fox terrier
B. ate tender shoots and leaves
Cr was relatively smart
D. had little hooves for toe nails
4. Tt can be inferred from the passage that the Dawn Horse
was a fast runner because of its
A. brain size
B. similarity to the modern—day horse’
C,,-’irim body and legs
D. number of toes

e 14 »



